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Roll No. j | ‘ ! W Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

PHYSICS SSC-II
SECTION - A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE:

Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

()

(i)

(v)

(vii)

(viib)

(x)

{(x1)

()

In Vacuum, all Electro Magnetic Waves have the same:

A Speed B. Frequency C Ampiitude D. Wave Length
Waves transfer:

A Energy B Frequency C. Wave Length D Velocity

Tne Audible Frequency Range for human being :s from 20 Hz to:

A 200 Hz B. 2000 Hz C. 20.000 Hz D. 200,000 Hz
Focal Length of Spherical Mirror is related to the Radius of Curvature by:

A, Fo=2R B, Fo= ]; C. =R D. F=12R
Rainbow is formed due to:

A Refiection B. Total internal Reflection

C. Dispersion D. Diffraction

Which one is OHMIC in nature?

A Thermister B. Filament Lamp C. Fixed Resistor D. Variabie Resistor

House Safety Wiring is connected in:

A Parailel B. Series C. At Random D. Gates

According to Right-Hand Rule for a current carrying conductor, current will be in the direction of:

A. Curling fingers B. Forefinger C Thumb D. Opposite to thumb
The presence of magnetic field can be detected by a:

A Small mass B. Stationery Positive Charge

C. Stationary Negative Charge D Magnetic Compass

The most suitable means of reliabie continuous communication between an orbiting sateilite and Earth is:
A. Microwave B. Radio wave C. Sound wave D. Light wave

Which Radio Isotope is used for cancerous tumour?

A Phosphorous - 32 B. jodine - 131
C. Cobalt - 60 D. Carbon - 14
Capacitance is defined as:
> J pr v
A oI B & c o D
& iy 0

For Examiner’s use only:

Total Marks: DEJ
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Time allowed: 2:40 Hours Revised Syllabus Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B {Marks 33)

Q.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

(1 What is the Wavelength of the Radio-wave transmitted by any FM station at Y0AH- ? Speed of Radio-
wave s Ax10%m oy
(i) Give any three uses of Ultrasound.

(fii) A object 30cmtall is located 10.5¢m from a Concave Mirror with Focal Length 16cm. Where is the

image located?

{iv) Why a fish under water appears to be at a different depth below the surface than it actually is?
(v} Write down the function of a Thermister.
(vi) How Lenz's law can be used for finding the direction of induced e.m f?

(vii) Briefly describe the process of Thermionic Emission from a meta! surface.

{viii) What do you understand by information and communication technology?

(ix) Which has more penetrating power, an alpha particle or a garnma-ray photon? How?
(x) I Tritium fH is decayed by emitting an electron. What will be the daughter nucleus?
(xh) Define the relationship between the critical angle and the refractive index of a substance.

{xii) What is a NOR Gate? Draw its truth table and symbo!,
Xy Write down the harmful effects of Radiation Hazard.
{(xiv) How is an electroscope used for identifying a conductor and an insulator?
(xv) Define Electric Current and its unit
SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a What is simple microscope? Also discuss Magnifying Power of Simple Microscope. (02+04)
b. Calculate the Equivalent Resistance of n-number of resistors in a parallel combination of resistors (04)
Q.4 a. What is Transformer? How does it work? (02+04)
b. Cobalt-60 is a radioactive element with Half-Life of 5.25 years. What fraction of the origina! sample
will be left after 26 years? (04)
Q5 a Discuss motion of @ mass attached to a spring. . (06)
b. The force of repulsion between two identical positive charges is (1.8A. When the charges are 0.1
apart. Find the value of each charge. (04)
— - 2SANTET L) —
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7 W 1 Answer Sheet No.

Sig. of Invigilator.

PHYSICS SSC-lI
SECTION — A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(n Which of the following characteristics of waves is independent of others?

A Speed B. Frequency C. Amplitude D. Wave length
(i The property of sound wave that distinguishes between shrill and grave sound is:

A, Loudness B Pitch C. Quality D. Intensity
(i For finding a virtual and erect image by a converging lens, object should be placed:

A Between Pole and F B. At F

C. Between F and 2F D. Beyond 2F
(iv) The index of refraction depends on:

A Focal length B. Speed of light

C. image distance D. Object distance
(v) The unit of electric potential is:

A g B. Je C. J D. Jm !
(vi) Which cne is not true for electric power?

A PR B. p-< C P IR D Py

{
(vify Two small charged spheres are separated by 2mm . Which of the following would produce the greatest

attractive force?

A +lg and +4g B ly and 49 C. +2g and +2y¢ D. +2¢ and —2g
(viii)  What is the relationship between resistance and length of a conductor?

A, Direct proportion B. Inverse proportion

C. Both are logarithmic to each other D. Both are equal to each other

{ix) The direction of induced e m.f. in a circuit is in accordance with conservation of:

A Mass B Charge C. Momentum D. Energy
(x) The screen of cathode-ray oscilloscope is:

A. Fiuorescent B. Reflecting C. Refracting D. Diffracting
(xi) The basic operation performed by computer are:

A Arithmetic operation B. Non-arithmetic operation

C. Logical operation D. Logarithmic operation
(xii) Release of energy by the sun is due to:

A Nuclear Fission B. Nuclear Fusion

C. Burning of gases D. Chemical reaction

For Examiner’s use only:

Total Marks: 12

Marks Obtained: B
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Time allowed: 2:40 Hours

PHYSICS SSC-i

Revised Syllabus
Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)
(i) What will be the change in the Time Period of simple pendulum if its length becomes doubled?
(i) On what factors does the loudness of sound depend?
(1) Define Power of lens and its units.
(iv) The charge of how many negatively charged particles would be equal to 10C x4 (" ? Charge on one
—ve charged particle is 1.6x1077 ¢
{v) {s Electric Intensity a vector quantity? if yes, what will be its direction?
(vi} What is meant by Electrostatic Powder Painting?
(vit) Differentiate between Direct Current and Alternating Current.
(viily A current of 3m.is flowing through a wire for 1 minute. What is the charge flowing through the wire?
{ix) State Fleming's Left Hand Rule? Also draw a diagram to show this rule.
{x) How does a NAND Gate work? Draw its symbol and truth tabte
{xi) What is meant by Word Processing and Data Managing?
{xil) Discuss briefly Half-Life of & radicactive element.
{xily How are the Longitudinal Waves produced in a Slinky Spring?
{XIV) Write down the reason of Nearsightedness. How can it be corrected?
(xv) Briefly discuss the term Mutual Induction
SECTION - C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. {2x10=20)
Q.3 a Discuss the construction and working of Ripple Tank. (06)
b. Derive the formula for the equivalent Capacitance for series combination of n-number
of Capacitors. (04)
Q.4 Define Electrical Energy. State and explain Joule's Law. {1+4)
b. An object 4emhigh is placed at a distance of 12¢m from a Convex Lens of Focal Length 8¢ .
Caiculate the position and size of the image. Also state its nature. (2+2+1)
Q.5 a. Write a detailed note on Nuclear Fission Reaction . (06)
b. A normal conversation invoives sound intensities of about 3x10 “Hm ™ . What is the Decibel

Level for this intensity? (04)
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